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1. Insert <, > or = to make each of the
following statements true.

a. 2[Jos
b. 43 [ J48 |
¢. 0:0909] ] 0:9009 - .

d. 12x3+9] |36
2. Complete, using indgx notation:

a. 9x9x9*dzj
b. 38+3°=300 .
c. 22x 26 =21
d. Sx5x4x5x8= 40 SA
e. 3=30 ™
- 3. Simplify, Ieavmg your answers in index
form:
a 8'x8=_|
b. 2x§23><22=\
. 10:$<10><10><.10 _
©o10°
d. (52)4_
8 6SL |
e. 611‘ =
4. Evaluate:
a, 16—:—%=
b. 2% x42 =
c. 9x (12-3%)=
d 3*=_

e. {4 -

5. Evaluate, correct to 2 decimal places:

a. 2:8° - (12x 34+ (54 ¥32x 0234%)) =

152
b.
24~ 17

c. 3.6 =
7.08434-7x2-01
6. Convert 357 minutes into hours angf minutes.

7. Write 12- 6708 hours eorrect to the nearest:

a. second

b. minute N T »
8. Find 8 h 2 min 455 —3 h 57.min 54 s v F
9. A phone operator answers 231 callson - -

Monday, 56 calls on ‘Tuesday, 149 calls on
Wednesday and a total of 987 for the week.

a. How many calls were made on Thursdzy;
and Friday? __ _ . f

b. If each phone call Iasted 156 seconds,
how Jong did the operator spend on the
phone on Thursday and Frlday‘7 '

— \_,- -

fto, A frog named Bertha jumps 4 metres on
her first jump, 2 m on her second, 1 metre

on her third jump, and continues to jump - 2

the distance of the previous jump each
time. Use your calculator to find the
distance that Bertha is trying to cover.

11. A company decides to share its $8-04
million dollar profit equally between its
1567 employees. How much does each

employee receive correct to the nearest
doliar? '

12. cﬁl?sauare root of a whole number lies
between 8:6 and §-7. What coujd the
number be?

13. Give 3 decimals that, when rounded to 3
decimal places, become 0-982.
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14. Bryce had a bag of 135 marbles. He gave : WORK ING SERCE
% of the to his brother and divided the rest i

between himself and two friends. How
many of the marbles did Bryce retain?

- o % . o

15. Find two numbers that have a p;oduct of
3264 and asum of 18-32,

sy
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1. Express as a percentage: 7. Decrease $40 by 6% and then increase % '
a 06 / : result by 6%.
b L _J —
27 8. A fruitshop owner buys a box of 24 mangoes
c. 3 ( for $9. At what price should he sell each
4 L mango if he wishes to make a 30% profit?
41 ! -
© 3
e. 0-125 } 9. A shop offers a discount of 20% off the cost
2. Answer each of the following as either true qf.a pair of shocs worth $89.95. Firyhﬁale
(T) or false (F) _ price of the shoes. ¢
g ‘
a. 70%> 10. In May, a pie cost $1.80 at the school
b = 1-59%  canteen. On 1 June, the price of a pie went
] 200 —_— ‘ up to $2.40. Calculate the percentage
c. 0:05=-L ] increase in the price of a pie.
. 5 .
2 - .
dj 5 <40% 11. a.. Carly earns 3% commission on the
e. x% of y=y% of x ' value of all sales. Find her commission
3. Write the following in aécending order: for a week in which her sales t} tal $34

L 40%, 144, 121%, 2 o80:
PR A R e AT

b. What would her sales need to be in
order for her commission to be over
$750 for any given week?

. ' tac he 1 1
4. Give a percentage that lies befween - and ¢

5. Find:

12. Michael earns $500 per week plus 1%%
a. 12% of 4000 m =

b. 3% of $560= commission on the value of sgles over

' : $100 000. How much does Michael eatn in
c. 6%% of 89 kg= a week in which his sales total $150 000
d. 101% of SmL = - - .

Lo B 13. Calculate the simple interest earned on

e. 73%0f §3.46 = $7000 invested at 6-11 % p.a. for:

6. a. Increase $25 by 10% = a. 4years -
b. Decrease $48 by 5% = b. 30 months ]
¢. Increase $107 by 12%% = 14. What is the flat interest rate needed for
d. Increase $3 by 250% = $5000 to double in 10 years? -
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15. If 12% of x = y, what is the value of:
a. 1% of 122 i
b, A%ofx? 7 *

c. 150% of x?

16. A car is sold for a profit of 20%, If the car
was sold for $30 000, how much profit was
made on the car?

WoeRrING SPRCE
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1. Express as a percentage:

a06_ (O L

b % o/
c. mlePlh
1 Ky Musi z_mam
e. 0-125 \2.5 . Ww w
2. Answer each of the following as either true
(T) or false (F).
a. 70%> 2 i ,\.
b. 5o =1-5%

ooom.wuu\
a.mm.npon\m m slu\
e x% ofy=3% ofx |

3, Write the following in ascending order:
1, 40%, 14, 123%, 5 \

L 1
et and 5
5. Find:

o 12%of4000m=__“4%0 \
b. 3% 0f $560 =Bl &-%0 s P
o 6L % 0f8:9kg= 0.556 ks <
d. 101% of SmL=_ 5. omc\
e. Ti%of$9.46=_71¢ ~

6. o Increase $25 by Hoﬁviwm LT w\_u Lo
b. Decrease $48 by 5% = mwm gD
c. Increase $107 by Hm.wm\ol Suoedw \

d. Mncrease 33 by 250%=__ 0.5 M

Yl 2 B, st
4. Give a percentage that lies b
237

7. Decrease $40 by 6% and then increage the -
result by 6%.
$29.95
8. A fruitshop owner buys a box of 24 mangoes
for $9. At what price should he sell each
mango if he wishes to rake 2 30% E.om

o 4%y AT

N 9. A shop offersa discount of 20% off Fa cost
of a pair of shoes worth $89.95. Find the sale
price of the shoes.  *

§sk
10. Tn May, 2 pie cost $1.80 at the school
canteen. On 1 Jime, the price of a pie went
up to $2.40. Caleulate the percentage

increase in the price of 2 pie. A\
2373/,

11. a.. Carly earns 3% commission on the
value of all sales. Find her commission
for a week in which her »E\SSE $54

630. .
9 legos

b. What would her sales need to be in
order for her commission to be over
$750 for any given week?

+ A oo
12. Michael earns $500 per week plus Hw$

comrpission on the value of sales over
$100 000. How much does Michael earn in
a week in which his sales total $150 000%
nwﬁ .50
13. Calculate the simple interest earned on _
$7000 mvested at 62 % p.a. for:
a dyears__ L7150

b. 30 months G371 5
14, What is the flat interest rate needed for

$5000 to double ENS years? >
hv
=

W7

' ( PR

Hm.Hmsﬁx,omxnw,éumﬁmﬁoéaaow
a. 1% of12? .ﬁ&

b, 24%ofx? W .,
e 150%ofx? Y B

16. A car is sold for a profit of 20%. If the car
was sold for $30 000, how much profit was

made on the car?
ffeo

e
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